Math 120 HW #1

Due: Sept. 6
Chapter 0.4 30.
W _8_y y

Perform the indicated operations and simplify. TT Y

37.

20 —3 O6y+7
4. (Vo +2vr)+ (Vo +3Va) 4 3
10. 42z —w) — 3(w — 22) A5
13, 5(z* —y?) + z(y — 3x) — 4y(2x + Ty) ' 4 _
15, 2(3(3(z% +2) — 2(22 — 5))) 307 =2) =7z = (5v = 2))
20.  (u+2)(u+5) 54.
3. (2z—1)(2s+1) v
4. (x+1)(2*+2+3) T—p
39. (z4+y+2)(3z+2y—4) 58.
4. (x+2y) 2 _ 3
47. r—1 x-2
62° + 423 — 1
2z Solve the following equations for r.
53.
i 81 I = Prt
5 : = Pr
v 85. X =P(1+rt)

88.

Chapter 0.7 g+ =1

Determine by substitution if the provided values
are solutions to the equation.

2. 12—Tex=—2% ze{1,0}
3. z+43(z—4)=5, x€{17/4,4}

Solve the following equations.

20. 2r —4x = =5

23. 5r—3=9

29.
T
—=2r—6
5 T

]

Chapter 0.8

Solve the following equations using either factor-
ing, completing the square, or the quadratic for-
mula.

2. tP43t+2=0

4. 22 +3r—-10=0

6. 22—-16=0

9. a?—4=0
13 4a’+1=4dzx
18.
1, 3



32.
43.
48.
96.

99.

67.
72.

2 —2xr—15=0
22 +4x =5
x 2421 -12=0

SN
DO | Ot

x
2

3r+2 2x+1 B

r+1 2x

V2r—3=x-—3
VI —8-2=0

Chapter 0.5

Factor the following expressions completely.

el Bl O

9.
20.
22.
28.
37.
38.
41.

61> — 4y
10zy + Sxz
3x%y — 9393
22 — 49
2> —x—6
322 — 3
942 — 18y + 8
4o —x — 3
2?y? — 4oy + 4
b* + 64
2 -1

(x+3)3%(x—1)+ (x+3)*(z — 1)2

Chapter 0.6

Perform any necessary operations and simplify
the fractions as much as possible. Where neces-
sary, perform operations to express your answer
without radicals in the denominator.

1.

a’—9
a? — 3a
x? — 3z —10
e

1

22.

23.

31.

32.

35.

39.

ol.

56.

99.

2 -9 t2
12 4+ 3t 2 —-6t+9
ar —b c—x
T —c ar + b
(m2+6m+9)
z+3
<10x3>
z2—-1
(25)
2 n 1
t 3t




